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Tekst 9  Can handling money spread germs? 

1p 30 Which of the following fits the gap in paragraph 1? 
A illegal 
B irregular 
C literal 
D superficial 

1p 31 Which of the following fits the gap in paragraph 2? 
A collected from 
B compromised by 
C transferred onto 
D washed off 

“‘Problems arise only when bacteria get into places they shouldn’t.’”  
(alinea 3) 

1p 32 In welke zin verderop in de tekst wordt voor het eerst duidelijk hoe dit zou 
kunnen gebeuren? 
Citeer de eerste twee woorden van deze zin. 

1p 33 Which of the following fits the gap in paragraph 4? 
A However 
B Moreover 
C Similarly 
D Therefore 

1p 34 How can paragraph 5 be characterised best with regard to the topic of the 
text? 
A as concerned 
B as disgusted 
C as hopeful 
D as reassuring 
E as surprised 


